G doms

43560 :090T Oloj 1) LTy oL, 1S olgils pb g ol

1399 sbo (6> bl PR 4L 95 Gagi paad 'ob

" _— ), . 9L — . . "
R et T A

Ry

DS oo dlee SO 4 ) i s ol jlplaS
Lawl 93 332 a9le 4 332 Qo U uly 5332 g 00 (A
Ll 24 ) 0 T9J Slse (sub dac 95 O palol> (o

(T = 330097 Cowds ) @ 00 Jazo 230 (1036 a2 015 9 & 20 S Coluns £ 900 ¢ Jolio JSB >
X

AS o 0ad diwlgs Ry 41w OVslee
) 2x2+x—6=0 (IS jhos )

OXZ = 6X =27 (03,5 JolS @y b9))

b T ciclas 4oy X = 3 45 s g 5095 433 doleo il
xX+1 a

fewml X =10l Ly — = dilee A Ylois 4> sl v .
—aw 2l S r+a x J > Sl .

Ologs100 1) VIS 1 5 335 0 s jd 0oy C(%) = 3000 + 50X VS X o5 sl (s3ugs &S s S
g )8 (50
DS s ) SIS b Sgue @ (A

D398 g0 ool VIS 33 355 J1 g &5 3 al 2900 (i




sk S Ja fal w5 5 gl adal ) Ol Sqalas
JAJGAM\JJ\AX}.\JJJcJﬁ}@éd\&;\)(d\

33 o Camn ) gtz (5 VLAl 4 33 Olod Y3 o i sxe a4 [ U

Wl F(-1)= 295,35 ol jl b RU SO 3905
S s |) Faduls

A.a.aSIo.w) I,f Jdgoi

3297 w3 41 1) @b (5,9) polio degommo ¢ f @ diols 9 dbulis 4 495 L

A={1,02,_1}

2oL U ) dul) S sl Oz L XY uoslie
(3,27 =32).(-1,2y).3,x - 4).(-1,8)2,5) }




